а) Дано: m (Fe)=14 г

   М(Fe)=56 г/моль


   М(Fe2O3)=160 г/моль

Найти: m(Al)        

Решение:
Fe2O3 + 2 AI = AI2O3 + 2 Fe
n=количество вещества
1. n(Fe)=m(Fe)/M(Fe)=14/56=0,25 (моль)

2.  
	n (Fe2O3)
	=
	0,25 моль (Fe)

	1 моль (Al)
	=
	2 моль (Fe)


[image: image1.png]0,25 moze + 1 Mose
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m(Fe2O3)=M) Fe2O3)*n(Fe2O3)=160г/моль*0,125моль=20 г
Ответ:20 г Fe2O3
Б) Дано: m (Fe)=14 г

   М (Fe)=56 г/моль


   М (Al)=27 г/моль

Найти: m(Al)        

Решение:
Fe2O3 + 2 AI = AI2O3 + 2 Fe
n=количество вещества
1. n(Fe)=m(Fe)/M(Fe)=14/56=0,25 (моль)

2.  
	n (AL)
	=
	0,25 моль (Fe)

	2 моль (Al)
	=
	2 моль (Fe)


[image: image2.png]0,25 moxns * 2 mone
(4 == R 025 siom




m(Al)=M(Al)*n(Al)=27г/моль*0,25моль=675 г
Ответ: 6,75 г алюминия
